M Review Gledl NAME:

Review A

a) A half-dozen fancy donuts costs $3.60 at the local bakery. What would be the cost
per donut? (Circle) the correct answer.

O A .60¢
O B .45¢
O € .90¢
O D .30¢

b) Replace each blank with the correct digit.

) 3] i) 4 5 iy 6 [ ] iv) 7 2 V) 9 8
+ 6 5 v 1] + 2 4 -3 - 7 []
9 6 5 7 8 6 4 1 2 4
c¢) The number is represented in the place value chart below.
ten thousands (| thousands M | hundreds @ | tens I ones ()
MMMM 29 1] 0000
000

d) A group of 27 Grade 2 students and 23 Grade 3 students go to the park. What is
the total number of students in the group?

) 40 i) 60 iii) 70 iv) 50

e) In the following number pattern Letitia is counting backwards by 100s.
764, 664, 564,

What will the next two numbers be in her pattern?
) 864, 964 i) 464, 364 i) 364, 264 iv) 564, 664
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